
 

 

                                                  

                                                                       
RD Sharma Solutions for Class-9 

RD Sharma solutions for chapter 1 

RD Sharma Solutions for Chapter 1 - Number System 

                            Exercise-1.2 

1. Solution:  

(i) By long division method 

 

Terefore, 42/100 = 0.42 

(ii) By long division method 
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Therefore, 327/500 = 0.654 

(ii) By long division method 

 

Therefore, 15/4 = 3.75 

2. Solution:  

(i) By long division method 

 

Therefore, 2/3 = 0.6 
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(ii) By long division method 

 

Therefore, - 4/9 = - 0.444 

(iii) By long division method 
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Therefore, 2/15 = -1.333 

(iv) By long division method 
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Therefore, - 22/13 = - 1.69230769 
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(v) By long division method 

 

Therefore, 437/999 = 0.43743 

 3. Solution:  

The property is if the denominators have factors 2 or 5 or both, the 
decimal representation will be terminating e.g. 
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